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Note : This paper is of two hundred (200) marks containing four (4) sections. Candidates
are required to attempt the questions contained in these sections according to the
detailed instructions given therein.

AT :  TE USUS S /Y (200) 37l 1 € TS THH AR (4) TS € | IR Bt THH GHIfEd Uel % SR
37T ¥ 521 7T Torge 59 & STAR AT R |
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Note :

e :

SECTION -1
EC g |

This section consists of two essay type questions of twenty (20) marks each, to be
answered in about five hundred (500) words each. (2 x 20 = 40 marks)

TG We H S9-a| 37ehi & S (HemTceh U9 € | Ucdieh ol ST TS Ui |t (500) s o
UTAT & | (2 % 20 = 40 3i)

Environmental degradation in India is not because of development but due to lack of
development. Discuss merits and limitations of the statement.

“RT H TATeROT foehid, T g1 o HRoT 78, afosh foehr &l 81 & SR € | 30 Jeed
St Tl AT GHT3Tt Rl == i |
OR / J1¥gat

India is an emerging economy. Is this statement true in the context of vulnerable
sections of our society ? Discuss.

IR T IHRA §¢ 3TI-FTwAT & | T I8 A SR THIST o TeTd QULT o T | el & 2
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2. Women are key drivers of any development process. Argue “for” and “against” this
statement.
HfeeTd TRl oft frepTe fsha ot aTeTeh 81t & | 39 gekied o T&T 7T foret H ek Qg |
OR / 3rgat
Why is female age of marriage still low in India ? Explain with illustrations.

IR | 37 o} fofarme st o1 e i © 2 WisTeRoT W iy |
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SECTION - II
ECE | |

Note : This section contains three (3) questions from each of the electives/specializations.
The candidate has to choose only one elective/specialization and answer all the three
questions contained therein. Each question carries fifteen (15) marks and is to be
answered in about three hundred (300) words. (3 x 15 = 45 Marks)

AT : TH WS H UAF Uh e / fauiomar ¥ &= (3) U & | 3R] I hael Ueh Ufessh Tohe /
ToreTo=Te st g 3T o AT Y91 ol STR ST € | Uk U9 Uese (15) 37hi 1 & o SHeh

TR ST i |y (300) Vi | SR § | (3 % 15 = 45 3i)
Elective — 1
fawea -1
3. Given a set of age specific death rates, how you get 1. column of life table. Also

discuss how we use this column in analysis.

3T T TN §eg S o Ueh (90 7T H2 o {oTu 310 A1 2t 1 | & 6y Fehredt ? 38 ot

AT {oh &9 39 TR hl YANT fageivor | ohd il ?
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“Standardization” is an important tool for comparison in time and space. Describe
how this technique helps in improving inference on comparison of two crude rates.

TE AT T | T 3 o [IT THRIRIOT Teh Tewargul it € | &1 STRNTe 33 i qor o
TR Sl GUR X | Tg Toh-1oh oh TR eTah & ? 0 iy |

What is the difference between Total Fertility Rate (TFR), Gross Reproduction Rate
(GRR) and Net Reproduction Rate (NRR) ? How do we compute NRR ? How will
you explain these indicators to a non-demographer ?
el STALTHAT S (2.0, 3TR. ), Fehel TAETRT 3T (Gﬁmm)amﬂawma‘{(mm
3R.) & S IR T HINT | 37T T 3R TR, T YA hQ BT ? SRkt T A T8l
TG dTel MK i 37T T Hohcehl i hdl THSATIN ?

OR / J1gat

Elective — I1
ICE T i | |

What are the merits and demerits of Central Place Theory of Christaller in measuring
the hierarchy of human settlements ?

AT IRAdl o USTSRA i AT B FREOR §RT Afauiied hara T Mg (Jget ©d o)
% TUT-SIST T Seid HIfTT |

Where are the settlements fragmented and scattered in India ? Give reasons for the
same.

TR § STl shef faafved aor faedt € ? 38 fofu srRo7 adqen |

Enumerate the impact of physical and economic factors that influence the spatial
pattern of distribution of population.

SHEEAT {IART St TWTET e i Uit e STel WThideh T 37 Rl & TG Hl
IR HITSTT |

OR / 3t
Elective — I11
faseT - 111

Identify the factors and processes that affect ecological balance in the context of
socio-economic development in India.

ORA o HHISTh- 3T Taehtd & T3y | qiRffdenta Ger st Tiad e alet Rl Te
TfsRAT3T St e T |

What are the centrifugal and centripetal forces that influence spatial organisation of
the economy in India ? Give examples.

qRA T ST & T (spatial) SHeRTIA i WATad A aTet hRaaRT (HIEwRETer) qer
HETTERT (HieteeT) Seh! T Sooitd HITSTY | ISR ST |
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5. Bring out the inherent conflicts between short-term and long-term goal of population
and sustainable development.

ST T RO (sustainable) foepr & STeUehlicteh TT SIEhICIeh T8 & oig SFtred

RER-foRTY & eer@ HIT |
OR / 3rgat
Elective - IV
fawea - IV
3. What are the programme interventions offered under Reproductive and Child Health

Programme to promote the health status of children and women ?
et q AEeTsTl & e Fi feafd it seaw I o foTe Ui wet o] wmen sy | ey
TR i T &Y S § 2

4, Comment why the “unmet need” for family planning is still high in India.
IRA | IRER FFsH & feu eTqRa Tevashar (unmet need) 31T off 3tfereh & — 3/t ? feoqoft
T |

5. What is the difference between contraceptive prevalence rate and couple protection
rate ? Give methods of their computation and indicate sources of data.
TMYFRIERT T WM SR (contraceptive prevalence rate) T PR TRARIAA T (couple
protection rate o S< T 3T & ? 7ok URheT i TaTe=l o7 ST % Hicll T Sooid HITTT |
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Note :

e :

SECTION - 111
g - III
This section contains nine (9) questions of ten (10) marks, each to be answered in
about fifty (50) words. (9 x 10 = 90 marks)

Tq d 1 9-39 (10-10) 371 3 At (9) W97 & | T U9 1 IR A q=T (50) v H
T E | (9 x 10 = 90 3iF)

Explain the difference in cohort and period measures of fertility.

ST & hiRle (ITT) T HREE (FH) WO Geieh o die 3R T i |
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7. Explain the importance of postnatal care in reduction of maternal mortality.

AG-TER | FHH o & o0 TEa-g9ard @Il o Hewdl ol GHeey |

8. What is difference between the terms “monitoring” and “evaluation” ? What is the
scope of assessment at each of these levels ?

AR A T JoATeh el H SR W T | 37 T TR W 3o (TEgHe) i o
(scope) FTE ?
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0. Why is measure of infant mortality called infant mortality rate and measure of
maternal mortality, maternal mortality ratio ?

ToTe] T & AT <hT T9T9] Jog SR A AIG-Teg & 1T i HIG-Jog ST 1 gl ST € 2
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10.  How do you interpret the following ?

l

l—sin life table
0

T)C
T in life table

X

9 Fr=TATEe bt =ame o TR i

l
Gﬁ?ﬂamrﬁﬁl—s
0

T
Gﬁ?ﬂamrﬁﬁl—x
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11. How standardization improves comparability of crude indicators (CBR & CDR) ?

HITehIShROT, ST Sgereht (F.l. 3R, a1 TS 37K, ) ! qerTeHehal i [hd YehR Tl € ?

12. Define sustainable development.

YROTY (sustainable) forehma =t gienfsa HifsT |
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13. What do you understand by tempo of urbanization ?

TTRIHIOT i Tt (SY) @ 37T 1 THE € 2
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14.  Discuss content and coverage errors in demographic data.

SRR T2T ol “Shice TUS shods T’ hl Tl Shiloy |

SECTION - IV
e -1V

This section contains five (5) questions of five (5) marks each based on the following
passage. Each question should be answered in about thirty (30) words. (5 X 5 = 25 marks)

T T | fefefiad oRess  emeRka uie (5) 9 § | T U9 1 3T AT | (30) Wi |
3TATRTA & | Ueeh U9 Ui (5) 3Rl I € | (5% 5 = 25 37®)

While the total fertility rate has declined from about 6 to 2.7 births per woman, the
magnitude of this decline has not been uniform throughout the country. The magnitude of
fertility decline and fertility behaviour of individuals is influenced by their own
characteristics and where they live in urban or in rural areas, and in a particular State or in a
J-15-11 26



district. Demographers have spent a considerable time in understanding this phenomenon.
What have we learnt from this research ?

At the micro-level, it is believed that parents have children because they want or they
need children. Couples have large families because that is what they think are in their best
interest. They want large families in order to enhance their own welfare, i.e., for reasons such
as old age security, to provide extra help in domestic and field work, and to support other
siblings. A shift in parents’ thinking from an improvement in their own welfare to an
improvement in the welfare of their children and a more equitable sharing of the cost and
benefits of having or not having children between men and women creates conditions
conducive to fertility decline.

At the macro-level, fertility has declined and can decline under various conditions,
i.e., there is no unique set of prerequisite conditions necessary for fertility to decline. While
economic development would ultimately lead to fertility decline as it did in North America
and Western Europe and while a good family planning programme has been shown to
decrease fertility even in poor conditions as it did in Bangladesh, the best results are obtained
by a good family planning programme implemented under good social settings. Conditions
conducive to fertility decline include :

o a family planning programme that offers information and services of good quality,
o low infant and child mortality, and
. high female literacy and education, at least up to the primary school level.

STafeh ot USH &R Ufd Tl 6 | FeaRY 2.7 @ TE W 39 AN 1 IRV SR | GHH Tél & |
TS ol HHT o TROTH 3R SAftkeh Ut He@R 30T 70 foreterorareti & yefad eid & | er — o
TTHT 37 TR & § ed &, 3R o g 7ot ateran foh o ® & € | St fost 7 gqent
T | UATd TUF oA E | 9 WIS @ g9 o g € ?

FeH TR W, Ig vy {orar S & Toh Aer-yar sredi i ST 3d © | Fifeh S el ol g7
I & ST Sh! STEvIhAT &Il € | Tl o URR o & &, T€ T BidT & i 39 o 370
Tated fed § A € | 3 310 9ot o folu 912 ufaR ot =medt € | SR, Ferd § R, B a°r ;R A
X & HIAT H TR a1 377 B Tl bl TETdT T, TTh HROT &l Gohel & | Teall bl S0 3 3725
T % IR W IR G A M el TRe (STEE o 30 oo & a3 Sl & o] sl Frem ol

€ | T9% 91 & AT 3R oY & TUH fausH & uid Tied offt €, 39 97 9 37 uRiefaar o o
I & S Ut | HH A | G B & | fokgd TR W, Ut B AT 3 € @R 3 ot aRfRefaa
% ST A & Tehll ¢ 37T UST ol hH e o [oT hig ST Joi-3Tuferd uRfefaar F&1 € | enfaeh
ToTehTa ST=Tet: U ot IeraT i Toh SOt SRRt ST afvem 20T | g3 € | 31 ol Ueh 3Tes URaR
TS IRIsRA SR AT UiereT T S 397 st foa= uRkfReafaat § off usa § &t 3T & | T

3= URER (Ao AT 9 318 AT UNaeT 3 SEi-ad [ohar ST o Fared aRony e
ST Gehdt & | IST Bt St 1 gIfig R o WeTEeh hRun § freferiad snfier & —

. Th URER 1T I ST TSt oTerT i Taeit 3T GarT UsH el &;
. =1 o] Uel areteh 9oy, Uel
. IATH VTEAY et T T Sod Bl HeRar iR e,
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15. State utilities of children to parents.

HreT-fudt & foTu sl sl STARTETet i adqersd |

16. Explain the necessity of family planning programme to reduce the fertility in
developing countries.

TorepTaiet 31 & Ui § SFH! o o TolU UiaR aisT Shiaishd bl 3Teregehal shi T ity |
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17. What type of shift in thinking of parents would facilitate fertility decline ?
HTCT- T 31 |re H FRE TR o S8lel &1 ST WSt | et 31 S0 ?

18. How fertility decline takes place at national level ?

UL TR W IS | HHT 8 A1l & 2
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19. What are the factors conducive for fertility decline ?

ST | ! o ol Besh i 9 & 2
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